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Math O
Homework 22.

Problem 1. Continue the pattern.
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Problem 2. Color a picture in a way that the neighboring regions (areas) are colored
differently. Use only 3 colors.

Problem 3. What does not belong and explain why.
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Problem 4. Create problems based on the picture. Record each math expression.
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Solve.
- = C>L<1=>
2+4[ ]4+2 7-3[J4+1 5-2[]7-1
| 5+2[]3+2 1+6[]3+4 7-1[]1+3
/1-5+2= 3-2+5= 4+3-5=
2+1+3= 1+6-4= 71-2-4=

Decode a word. Put letters according to their numerical order.

=2=1=[1]
5-4+1=| |A

4-1-2=[F
2+2+2 =[]Y

3+4-2=[]L
4-3+2=| |M
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Problem 5. Solve the problems and color in YELLOW if the sum is equal to 3, in [REB
if the sum is equal to [, in GREEN if the sum is equal to 8, in BLUE if the sum is
equal to 9, in if the sum is equal to [l
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Problem 7. Based on the picture below (the number lines), record your number
sentences and solve them.

i/-’jiiiﬁ(;’—fiiix;
7 gy = e 2
7+ 1= 6+ 2 =
+ = +
8 - 7 = 8 - 6 =
— 8 8 b
5 3 ' 4 4
+ =
2 = + =
\_ - U= i

What common characteristics do the fish have? Using lines, divide the fish into droups
according to their common characteristics (similarities). How many groups do you get?
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Problem 8. Fill out the missing numbers. Discuss what comes before and after.

4 6| |12 14| |18|19

7 91 [15]16 15

9 (10 18 17 (19

9 (10| |11 13| |18 |20

Problem 9. Record the number expression under each picture. Draw your own pictures

to match the number expressions. Place “>”.”<” or “=" signs.
G ==
4 X N N o
Of O '-\,./_O\,. | . . .ﬁ
= 0
Sl i Y ! Py
3+1) [<|[3+3 |
2 NP Y i T & P
A Al A A
A A A
A
N : AJ - AJ A/ - [ J % : .




Choose figures from the first “bag” and draw them in the empty “bags” to match the
number expressions below.

4 — )
& . (> X 7 N
B A (-A‘j
\A A A) \(AIAAE . . BV l
3+3 2+ 1 1+5

> -

1 2 3 4 5 6 ; 1 2 ; 4 5 6 7
71 -4 -2= 3+3+ 1=

(=9 +2= 3-2+5= 4+3-5=

2+1+3= 1+6-4= —-2-4=




